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Note .—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper. |
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Attempt any Five questions.

All questions carry equal marks.
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Outline the main determinants of quantity demanded
and quantity supplied. Explain how they interact to

determine the market price. 13
Distinguish between administered price and auction

price. 7
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What is the paradox of value ? 7

Explain consumer equilibrium using indifference curve

analysis. 13
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Differentiate between increasing returns to scale, constant

returns to scale, and diminishing returns to scale. 0
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(@) What are the assumptions of perfect competition ? 10

(b)) Explain long-run equilibrium of a firm under perfect

competition. 10
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(@)  Explain shorl.-run equilibrium of a firm under monopoly. 10
() What is pric: discrimination ? 10
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(@) Why is labour supply curve backward bending ? 10

() . What is ecoh_omic rent ? 10
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Write short notes on any two of the following : 10+10
(@) Terms of trade

(&) - Market failure

(¢)  Prisoner’s Dilemma.
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